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21
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21 1

21 4

21 1

21 1
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1

2

1

3 1

3
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21 2

21 2

ABCD, ABFE, BCGF, EFGH, ADHE

CDHG ABFE CDHG,

ABCD EFGH ADHE

BCGH

ABCD ABFE AB

12

A,B,C,D,E,F,G H

8

l, b h

AB(=EF=CD=GH) AE (=BF-

CG-DH) AD = (EH = BC=FG)

ABFE, AEHD  EFGH  E 

DCGH, BFGC  ABCD C E

 C E  C 

E C EC AG, BH 

FD.

. 21.2

D

H G

E F

BA

C
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(i) (ii)

21 3

21 3 i 21 3 i

, b

21 3 ii 21 3 i

=

= 2( )

 21.3 (ii), BE  EC 21 4

AB = 90o

BE2 = AB2 +AE2

BE2 = 2 + 2 -(1)

, CBE = 90o

EC2 = BC2 + BE2

EC2 = 2 + 2 + 2   [(i) ]

b

A
h

h

b

h

hh

l

l

B

CD

H G

F
h

E

B
A

D
C

b
l

H G

F
h

E

BA

D C

b
l
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EC = .222

.222

= b = h.

21 1 4 3 12

i ii iii

i

= 2 (lb + bh +hl)

= 2 (4×3+3×12+12×4)cm2

= 2 (12 + 36 + 48)cm2

= 192 cm2

(ii) =

= 4 × 3 × 12 cm3

= 144 cm2

(iii)       Diagonal of the cuboid

= .222

= cm.1234 222

= cm.144916

= 169 cm

= 13 cm

= 2 (a x a +a x a x a x a)
26

222 = 3
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1

21 5

21 5

60

60 60 3 1 1

3

x x 5 x 4 x 3

x x = lth

 = b = h

a a x a x a a3

(iii)       Diagonal of the cuboid

= .222

= cm.1234 222

= cm.144916

= 169 cm

= 13 cm

5 cm

4 cm

3 cm
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21 2 3 2 25

=3 b=2 h = 25 = 0.25

lbh
= 3 x 3 x 0.25
= 1.50 3

21 3 2197 3

a
a3

2197 a3

(13)3 = a3

a= 13 13

6a2

= 6 x 13 x 13

= 1014 2

= .222

= 23

= 2133

= 313

 21.4 : 5 4

60m3

d

h

60 = 5 x 4 x d

d = 3 

3
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60m3 1 1000

3 1000 1 1m3

60 x 1 60

60000

21 5 1 5 1 25

65

200

=  + 2  + 2 2

= (1.5×1.25) + 2×1.25 × 
100

65
 + 2 × 

100

65
×1.5)m2

= (1.875 + 
100

195

100

5.162
) m2

= (1.875 + 1.625 + 1.95)m2 = 5.450 m2

lm2 200

5 45 200 × 5.450

=  1090 

21 6 10m 100m 4 5

 :  = 4.5 

=
6060

10004.5
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=

4

5

=
4

5
× 100 × 10 m3

= 1250 m3

1250

21 7 588 50 30

0 12

× ×

 30 × 20× 12

= 30 × 20 × 12 m3

= 7200 m3

= 588 × 50 m2 – 30 × 20 m2

= 29400 m2 – 600 m2

= 28800 m2

cm25m
4

1
m

28800

7200
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25

21 8 7m x 4m x 3m

2m x 1.5m 1.5m x 1m

4

7m x 4m x 3m 7m 7m 3m

2m x 1.5m

2m 1 5

1

=

= 2( )×

= 2(7+4)×3 m2

= 66m2

= = 7×4 m2 = 28m2

= 2 × 1.5 + 1.5 × 1 = 4.5 m2

(1)

66 + 28 - 4.5

89 5 m2

1 4

89 5 89 5 × 4

358

21 1

1 6 3 2 5

2 3 6

3 3375 3

4 42 × 32 ×27 1
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5 12 8 6

1 5 3

6 3 75 33 75 3

7 8

8 6 5 4 4 2

75

1 2 40

9 6 × 4 ×3

21 3

ABCD AB

21 6

21 6 A B

AD=BC AB AD

BC AB

r h

2 r

h i ii

= 2  × = 2 .

. 21.6

AD

BC



4

237

= 2 + 2 2

= 2 (  + )

lbh

×

= 2 ×

= 2

21 9 7 10

1 2 3

1 ×

2 rh

=

22 cm440cm107
7

22
2

2 2 rh + 2 r2

=

2cm7)7
7

22
2107

7

22
2(

= 440 2 + 308 2 = 748 2

(3) = r2h

=

310cm77
7

22

= 1540 3

r

h h h

2 r
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21 10 12

1 70

2

12
6

6 1

5

= r
1

2h  – r
2
2h (  r

1
= r

2

=

325)cm–(361022

= 2420 cm3

2420 3

21 11 35 1

200 3

A

B DC

21.8
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1

= 2prh

= 2 × 
7

22
 × 35 × 100 2 (r = 35 , h = 1 m = 100 )

= 22000 2

=
100100

22000
 m2

= 2.2 2

(1  100 

1 2 100 × 100 2

1 2 = 10000 2

200 2.2 × 200 m2 = 440 m2

1 2 3

440 2  3 × 440 =  1320.

21 12 1 54 3 5

1 100 1000

3 5  r = m
2

3.5

2

3.5
m

4

7

10004

7
=

4000

7

 21.9

A

B C

l l

2 r
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2

4000

7

4000

7

7

22
h = 

100

154

h
7

4000

7

4000

22

7

100

154

h = 160000 160

160

21.2

1 5 1 4 1
2 3

2 3080 3 7

3 7 2 1

4 33 16

5 28 12
66

28

6 8 2
10 = 3.14 

21 4

ABC B AB ABC

21 8

21 8 BC B
AB A AD
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 = 

22

22 hr

r, h 

21 9

2

2

2

. 21.11

 21.10

O

P

r

21.11
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=
3

1
r2

21 13 7 24

= 22 hr

 = 242477

= 25cm57649

= r

7

22
 × 7 × 25 2 = 550 2

= r  + r2

= (550 +
7

22
 x 7 x 7) 2

= (550 + 154) 2 = 704 2

 = 
3

1
r2h

=
3

1
×

7

22
 × 7 × 7 × 24 3

1232 3

21 14 6 8

120  (  = 3.14)

= 22 hr  = 4663  = 100 = 10

 = 
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3.14 × 8 × 10

= 251.2 2

1 120

251 2  120 × 251.2

=  30144

21 3

1

5 12

2 616 2 9

3 10 5 176

4 9 12 3

(  = 3.14).

5 12936 42

21 5

21 10
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21 11

 = 4 r2

2 r2

2 r2 + r2

3 r2

 = 2 × 
3

1
r2 h

=
3

2
× r2 × r (  h = r)

=
3

2
× r3

r = 2 × 
3

2
r3 = 

3

4
r3
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=
3

4
r3

3

4
r3

3

2
r3

21 15 1

2

21

4 r2

= 4 × 
2

21

2

21

7

22
2

1386 2

3

4
r3

=
3

4
×

7

22
 × 

2

21
×

2

21
×

2

21 3

= 4851 3

21 16 2425 5 3

3

2
r3

3

2
 × 

7

22
r3 = 2425.5

 r3 = 
8

212121

222

75.24253
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 r = = 10.5 

 = 2 r2

= 2 × 
7

22
×

2

21
×

2

21
2

= 693 2

21 4

1 14

2 38808 3

3 56

(i)

(ii)

(iii)

4 28 7

= 2( )

= ,

222
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a 6a2 a2

 a 3 .

= 2 ( )

2 rh

= 2 +2 2

2 + )

r2h

r h

2

 +

+ )

=
3

1
r2h,

 = 4 2

=
3

4
3

2 2

3 2

3

2
3



4

 248

1

(i) ,

(ii) ,

(iii) = __________

(iv)

(v)

(vi)

(vii)

(viii)

2

(i) 63  × 56  × 21 

(A) 21 (B) 28 (C) 36 (D) 42 

(ii)

(A) 2 (B) 3 (C) 4 (D) 8 

(iii)

(A) (B)

(C)  (D) 

3 96 3

4 3 2 5 1 5
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5 1 6

6 6  × 8  × 10 

7 8

8 A,B,C 2

V 3 V2=ABC

9 10 10 1

(  = 3.14).

10 21 12936 3

11 150  × 70 5 6 20

12 606.375 3

13 12 4 3 2m×1m

2 5 × 2 30

14 0 2  = 3.14).

15

(i)

(ii)

16

17 25 7

(i)

(ii)

(iii)
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18 5

19 3 2 7 2

(i)

(ii)

20

(i) a 6a2

(ii)

(iii)

(iv) 222

(v) r 2 r2.

21.1

1.  81 m2; 45 m3 2. 77.76 2; 46.656 3

3. 15 , 1350 2 4. 30000 3

5. 384 6. 15 m, 117 m2

7.  896 2, 1536 3 8.  460.80

9. 61

21.2

1. 44 m2; 201
7

1
 m2; 110 m3 2. 880 2

3. 80850 4. 1386 3
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5. 4 6. 401.92 2

21.3

1.
7

1430 2;
7

1980 2;
7

2200 3

2. 1848 3 3. 2 4. 141.3 

5. 2310 2

21.4

1. 2464 2; 11498
3

2
3 2. 21 , 5544 2

3. (i) 9928 2 (ii) 14892 2 (iii) 92661 
3

1 3

4. 64

1. (i) 2 ( + + ) (ii) 222 (iii) 3

(iv) 2 + 2 (v) 2

(vi) , (vii) 4 2

(vii)
3

2 3

2. (i) D (ii) D (iii) D

3. 64 3 4. 31.5 m2; 11.25 m3 5. 11.76 2;

3.136 3

6. 10 2 7. 8 3 8 .

[Hint: A = ; B = ; and C = ]

9. 621.72 2 10. 35 , 3696 2 11. 18.95 

12. 21 m, 5544 m2 13. ̀  2610 14. 31.84 m
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15. (i) 1 : 27 (ii) 1 : 9

16. 1: 3: 2

17. (i) 550 2 (ii) 704 2 (iii) 1232 3

18. 350 2; 375 3

19. (i) 63 : 16 (ii) 21 : 8

20. (i) (ii) (iii)

(iv) (v)


